Illinois Open 2003: Transfigured Spite

Toss-ups by Grinnell A (?) and Arkansas (Joshua Hill)

1. The Hagen-Poiseuille equation is, perhaps, the most famous solution set of this. This equation is reduced to Euler’s equation by the assumption that the divergence of the viscous stress tensor is zero and though this lemma is nigh on impossible to solve analytically, it must be made significantly more complicated for flows with non-constant density or viscosity. For ten points, name the non-homogenous partial differential equation that represents conservation of momentum in an isochoric Newtonian fluid flow.

Answer: Navier-Stokes Equation(s) (accept general differential momentum relation and equivalents before “more complicated”)

2. Historians frequently debate whether this began with the publication of the May 23 Circular or with the first big character poster by Nie Yuanzi. Some scholars place its ending after the creation of the three-in-one committees, while others do not declare it to have been over until after Mao’s death in 1976. For ten points name this purge of all things “bourgeois” from China, famous for slogans such as “Bombard the Headquarters.”

Answer: Great Proletarian Cultural Revolution

3. This man’s widow, Laodameia, was so distraught about his end that she was granted his return from Hades for three hours, at the end of which time she immolated herself. This son of Iphicles of Thessaly is noted by Homer as the leader of Phylace. For ten points name the Greek warrior who, in spite of his awareness of a prophecy of doom, took the first step onto the Trojan shore.

Answer: Protesilaus
4. Given two prime numbers, p and q, and an integer kE [“k-sub-E”] less than the product of p and q and relatively prime to the least common multiple of p-1 and q-1, there exists another integer kD [“k-sub-D”] such that the product of kD and kE is congruent to unity modulo the least common multiple of p-1 and q-1. Since primality-testing algorithms are in P, while factoring algorithms grow exponentially with the size of a number, kD is very difficult to find a priori if p and q are large. kE and kD are therefore the keys in, for ten points, what popular encryption algorithm, named for its three developers?


Answer: RSA encryption algorithm

5. In the original version of this, the girl punched in the stomach in its intro makes a slight grunting sound and the protagonist emerges from a garage door that opens. In The Wizard, Corey gives the Wizard the title “the Wizard” due to his very high score at this game. Enemies in this work include Abobo, Linda, and Chin and, in this author’s opinion, that punched girl, Marion, is not likely worth the four missions of trouble that the twin Lee brothers must undertake to get her back. For ten points, name this pioneering arcade and NES beat-‘em-up that spawned sequels subtitled “The Revenge” and “The Rosetta Stone.”


Answer: Double Dragon
6. The titular structure is almost definitely outside of this work’s “historical” context, as its author admits that there is not “…any evidence that women [in that context] used a menstrual [building].” This novel is, fundamentally, a retelling of Genesis 34 with a different narrator and is noted for its portrayal of the rape of Jacob’s daughter as a consensual relationship.  For ten points name this feminist recasting of the biblical story of Dinah by Anita Diamant.

Answer: The Red Tent
7. When this entity refuses counsel, his younger brother Vibheeshana deserts him. After conquering the three worlds, he receives a boon from Brahma stating that no god will ever be able to defeat him. Shortly after his brother Khara and sister Soorpanakha are killed, he defeats the valiant attempts of Jataayu the eagle-king who attacks his magical chariot Pushpaka, successfully returning to Sri Lanka with his prize. For ten points, name this king of the Rakshasas.


Answer: Raavana

8. These objects are resistant to the action of most proteases due to their abnormal conformation, which often is the substitution of a beta strand for an alpha helix. While their means of replication is not well understood, their virulence results from their ability to change normal proteins to match their conformation.  For ten points, name this class of organic pathogens whose common name is a contraction of “proteinaceous infectious particle.”

Answer: Prion (accept proteinaceous infectious particle before it’s mentioned)

9. Assured that the wind always blew from the back during winter, Tsao Tsao chained his ships together in this battle so that his men could fight the Suns on solid ground. Unfortunately for Tsao Tsao, his advisor in this matter was actually an agent of Chuko Liang who, according to legend, cast a spell to make the wind change direction. This turn of events allowed Liu Pei to successfully launch his fire ships in, for ten points, which battle fought in 261 C.E. and famously described with embellishments in Romance of the Three Kingdoms?

Answer: Battle of Red Bluff 

10. In an effort to clarify his own beliefs, this man wrote a preface to a French translation of the Bible done by his cousin Pierre Olivétan.  Responsible for the arrest and subsequent burning of the Spanish priest Michael Servetus, his Ecclesiastical Ordinances set up his conception of the church order, but he is most famous for a concept he described in his The Institutes of Christian Religion in 1536.  For ten points, name this French theologian and originator of predestination. 
Answer: John Calvin
11. Notre-Dame de Paris is barely visible in the upper right, and the artist himself appears in a top hat on the far left. Behind him, a peasant with a cutlass stands poised to attack; in front of him, two men lay dying, victims of the 1830 event that the artist meant to commemorate. This painting’s most notable image, however, is the bare-breasted Marianne waving the tricolor in its center. FTP, name this painting of the July Revolution by Eugene Delacroix.

Answer: Liberty Leading the People (or La Liberté Guidant le Peuple)

12. In Act III, Scene 1 this man severs his own hand thinking to save his sons, but a messenger arrives during the subsequent scene carrying “two heads and a hand.” Nor are these the only body parts removed: his daughter’s hands, as well as her tongue, have been cut off by her rapists so that she cannot betray them. For ten points name the Roman general who revenges himself on Lavinia’s attackers by cooking them and serving them to their mother in a pie and is the title character of a notoriously bad Shakespeare play.

Answer: Titus Andronicus
13. A toluenesulfonyl derivative of this compound is used in the Shapiro reaction, which reduces carbonyl compounds to alkenes. Reactions involving it and its derivatives are typically extremely exothermic, as they usually involve the energetically favorable production of nitrogen gas as a byproduct. It is produced commercially by the Raschig process, which proceeds through a chloramine intermediate. Hypergolic with dinitrogen tetroxide, it and its monomethyl and unsymmetric dimethyl derivatives are used extensively as rocket fuels. FTP, what is this chemical with formula N2H4 [N-sub-2 H sub-4]?


Answer: hydrazine or diamine (accept N2H4 before it’s mentioned)

14. This event was the result of a trial for violation of the Majestätsbrief. Unlike in the first event of this name, no pikemen were stationed outside of Hrdcany [HERD-cahny] Castle to the good fortune of Wilhelm, Graf Slavata and Jaroslav Borzita, Graf von Martinicz [MAR-tin-ich]. The Lutheran nobility revolting against Rudolph II were less fortunate, as their actions set off the Thirty Years’ War. FTP, name this 1618 event in which three dudes were thrown out of a window in the capital city of Bohemia.

Answer: The Second Defenestration of Prague
15. After practicing law in Massachusetts for under a year, this man became the editor of the Springfield Union and the New York Evening Post. At age thirty, he began to write novels including the lesser-known Dr. Heidenhof's Process. After the publication of his best-known work in 1888, he worked on its sequel, Equality, which was finally released shortly before his 1898 death. For ten points name this reformer and author of Looking Backward.

Answer: Edward Bellamy
16. Late in this man’s life, he studied the origin of oceanic deposits with Meyerhoffer. Previously, he had developed his namesake reaction isochore and isotherm, and he also enunciated the principle of corresponding states.  His paper “Studies in Chemical Dynamics” detailed his review of Arrhenius’ work, from which he derived his own namesake laws of pressure, and his namesake “factor” is used in the calculation of colligative properties, especially osmotic potential.  FTP, name this Dutchman, the winner of the first Nobel Prize in Chemistry in 1901. 


Answer:  Jacobus Henricus van’t Hoff
17. Its main conspirator was not examined by the privy council, and it may have been exposed immediately if not for letters sent to Francois La Chaise from secretary Edward Coleman. It resulted in the execution of three men for the death of Sir Edmund Berry Godfrey, who was the first to learn of it from Israel Tonge and an Anglican priest who was convicted of perjury and imprisoned.  Sparking anti-Catholic sentiment across England, FTP, name this creation of Titus Oates which warned of a threat on the life of Charles II.


Answer:  Popish Plot
18. Kicked into the sea by his rival, he emerged as a jaguar and devoured a race of giants.  This god supposedly created the first dogs out of Tata and his wife Nene, and he once seduced the goddess of flowers while appearing to her as a shape-shifter. Representing conflict and change in society and depicted as a “smoking mirror”, this god is regarded as the great adversary of Quetzalcoatl. For ten points, name this Aztec god of night, beauty, war and all material things.

Answer: Tezcatlipoca 
 

19. This artist began his career as a caricaturist and then moved on to landscape painting under the advice of his mentor Boudin. He became fond of painting outdoors and, after two years in Algiers with the military, moved to Paris to become a member of the studio Gleyre. He had a trench dug in his garden so that the overlarge Women in the Garden could be raised or lowered to a height that he liked. For ten points, name this archetypal artist of the Impressionist movement, famous for painting Impression: Sunrise. 

Answer: Claude Monet
20. This work’s titular event is immediately preceded by three days of screaming and two hours of silence. The main character is an expert vint player and public servant of the third degree, with a salary of five thousand rubles, but he slowly wastes-away after knocking his left side against a the knob of a window frame. Various acclaimed doctors are unable to diagnose or treat the cause of, for ten points, the title decease in what 1886 short story by Leo Tolstoy?


Answer:  The Death of Ivan Ilyich (accept Smert Ivana Ilicha) 

Overtime. Knighted in 1965, this man worked as a professor of logic at the London School of Economics for nearly twenty years. Isaiah Berlin said that he produced one of the most devastating refutations of Marxism in such works as The Poverty of Historicism and The Open Society and its Enemies. In 1946, Ludwig Wittgenstein threatened him with a red-hot poker, eleven years after the publication of his most famous work, which introduced his “falsifiability criterion.” For ten points, name this author of The Logic of Scientific Discovery. 

Answer: Karl Raimund Popper
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1. Name the people encountered by Odysseus on his journey home for the stated number of points.

1.  (5 points)  This immortal woman fell in love with Odysseus and kept him alone on her island for seven years.

Answer: Calypso

2.  (10 points)  This monster with twelve tentacles and six heads guarded a sea passage with another. Of the two, it was preferable for her to attack.

Answer: Scylla

3.  (15 points)  Odysseus encountered these cannibalistic people after encountering Aeolus and before encountering Circe.  

Answer: Laestrygonians 

2. Given a summary, name these short stories by Guy de Maupassant for ten points.

1. Henri attempts to pass off an old lamb shankbone as a bone of the “11,000 virgins” and creates an elaborate story to convince his fiancée that the artifact is genuine.

Answer: “The Relic” (“La Relique”)
2. Madame Loisel borrows and loses the title object, spends 10 years earning money to pay for it, and then discovers that it was “paste;” that is; a worthless fake.

Answer: “The Necklace” (“La Parure”)
3. A second lieutenant under Major Graf von Farlsburg engages in his favorite pastime of  “having a mine,” that is, blowing-up various priceless works of art, before he is stabbed to death by a prostitute.


Answer: “Mademoiselle Fifi”
3. Name the following appertaining to the pitfalls of the understanding created by Mike’s circuit analysis course for the stated number of points.

1. (5 points) Mike’s Korean lecturer is unable to pronounce s’s, so the name of this simple analog device is butchered to that of a non-similar digital device. The current through this device is directly proportional to the voltage drop across it.


Answer: resistor (snickering accept registor)

2. (10 points) The less adept in Mike’s lab are notorious for installing this device, the regulator in a dc power supply circuit, backwards and consequently causing it to operate normal and not reverse breakdown mode.


Answer: Zener diode (prompt on “diode”)

3. (15 points) Certain morons in Mike’s discussion section “don’t understand why” no current can flow into the gate of this four-terminal semiconductor device. Everyone else knows that the gate is insulated, frequently by a layer of non-conducting oxide or polysilicon.

Answer: Metal-Insulator-Semiconductor Field-Effect Transistor (accept Metal-Insulator-Semiconductor Field-Effect Transistor, MOSFET, MISFET, FET or anything else that is a field-effect transistor with an insulated gate; prompt on “transistor,” but do not accept “BJT” or “JFET”)

4. Identify each of the following about the election of Mikhail Romanov for ten points.

1.  Mikhail’s election put an end to this bleak period of Russian history, the result of the power vacuum following the death of Boris Godunov.


Answer: The Time of Troubles (accept Smutnoye Vremya)

2.  Mikhail was elected to the position of tsar in 1613 by this body, whose name is Russian for “assembly of the land.”


Answer: zemsky sobor
3.  Mikhail’s father Fyodor took this monkish name and went through various banishments and appointments to lofty positions. Eventually Mikhail had this man appointed patriarch of Moscow.


Answer: Philaret (accept Filaret)

5. Scientists with something in common, FTPE.

1.  This Austrian scientist made major contributions to thermodynamics and statistical mechanics, extending Maxwell’s theory of velocity distribution among gas molecules and refined his tutor Josef Stefan’s law for blackbody radiation.  He then killed himself.

Answer: Ludwig Boltzmann
2.  This UIUC grad headed up the research labs at DuPont in the 1920s, and discovered nylon and neoprene rubber. He then killed himself.


Answer: Wallace Hume Carrothers
3.   Another Austrian, he also made a number of contributions to statistical mechanics, in particular with his work on the ergodic hypothesis and nonequilibrium thermodynamics and was a close associate of Bohr, Einstein and Planck. He then killed himself.


Answer: Paul Ehrenfest 

6. Name the following about Hermiones having little to nothing to do with a certain series of books for semi-literate pre-teens for ten points.

1.  Probably the best-known Hermione in literature that doesn’t suck is from this Shakespeare play, the plot of which is based upon that of Robert Greene’s Pandosto.


Answer: The Winter’s Tale

2.  In some versions of this man’s myth, he marries an Hermione before dying of snakebite.


Answer: Orestes
3.  This most famous composer of dithyrambs and purported teacher of Pindar was presumably from the city of Hermione near the Saronic Gulf.


Answer: Lasus of Hermione

7. Answer each of the following about a fundamental idea from quantum mechanics for ten points.

1.  Dirac’s second postulate relates to expression of classical observable quantities in quantum mechanics by these mathematical constructs, generally denoted by a letter with a hat above it.


Answer: operators
2.  An operator that is its own adjoint, such that <(l|Â(n>=<Â(l|(n> [“bra psi-sub-l bar a-hat psi- sub-n ket equals bra a-hat psi-sub-l bar psi-sub-n ket”] is known as this. Operators representing observables are generally this, and the simplest example is any real number.

Answer: Hermitian operator (accept equivalents and word forms, particularly Hermiticity)

3. The Heisenberg Uncertainty Principle applies for Hermitian operators and is fundamentally a relation between the dispersions of two observables and the expectation value of this, usually denoted for operators Â and Ê [“A-hat and E-hat”] as [Â,Ê] [“open-bracket A-hat comma E-hat close-bracket”]. For compatible operators, it is zero.


Answer: commutator of two operators

8. Name each of the followings about some Roman chicanery for ten points.

1.  This man was elected Consul an unprecedented seven times, starting in 107 BCE. This was probably in no small part due to his private army and frequent campaigns of terror against his foes.

Answer: Gaius Marius (accept C. Marius)
2.  This distinguished orator, poet, writer of prose, and consul with Marius in 102 sided with Lucius Cornelius Sulla and was forced to suicide by Marius’ capture of Rome in 87.


Answer: Quintus Lutatius Catullus
3.  Catullus turned-away from Marius after the latter received an undue portion of the credit for this 101 victory over the Cimbri.


Answer: Battle of Raudian Fields 
9. Members of the Pre-Raphaelite Brotherhood often used passages from Shakespeare as inspiration for their paintings. Given a passage from a Shakespeare play and the artist of the painting inspired by that line, name the painting for ten point each.

1.  “Death is a fearful thing/ And shamed life a hateful,” William Holman Hunt

Answer: Claudio and Isabella
2.  ”There’s Rosemary, that’s for remembrance—pray you, love, remember. And there is pansies, that’s for thoughts,” John Everett Millais

Answer: Ophelia
3.  "Ruffian, let go that rude uncivil touch; / Thou friend of an ill fashion!", William Holman Hunt

Answer: Valentine Rescuing Sylvia From Proteus

10. Name each of the following poems from characteristic lines for 15 points, or from its author for 10 points.

1. (15 points) “…-- Great God! I’d rather be / A Pagan suckled in a creed outworn;…”

    (10 points) William Wordsworth

Answer: “The World is Too Much with Us”
2. (15 points) “Oh there is a blessing in this gentle breeze, / A visitant that while it fans my cheek / Doth seem half-conscious of the joy it brings / From green fields, and from yon azure sky.”

    (10 points) William Wordsworth


Answer: The Prelude
11. Answer each of the following about electrocardiograms, for ten points.

1.  Conventionally, the first peak on a period of an ECG is referred to as this and corresponds to the depolarization of atrial muscle.

Answer: P-wave

2.  The second peak, a sharp peak followed by a steep drop similar to the graph of a nerve impulse, is referred to by this three-letter term and corresponds to ventricular depolarization. 

Answer: QRS complex
3.  This is the final bump in a period of an ECG and corresponds to the repolarization of the ventricular muscle, as the QRS complex blocks resolution of the repolarization of the atrial muscle. 

Answer: T-wave

12. Because television sucks name each of the following classic rock albums from words spoken on them for 15 points, or from easy song titles for 5.

1.  (15 points)  “Isn’t this where… we came in?”

     (5 points)  “Comfortably Numb” and “Run Like Hell”


Answer:  “The Wall” by Pink Floyd

2.  (15 points)  “When the pale sea conspires in armor…”

     (5 points)  “Love me Two Times” and “People are Strange”


Answer:  “Strange Days” by the Doors

13. Name the author from works, 30-20-10.  

(30 points) The Eve of St. Mark and First Flight
(20 points) Gods of the Lightning and Lost in the Stars
(10 points) Winterset, What Price Glory?, and Knickerbocker Holiday

Answer: Maxwell Anderson

14. Identify each of the following people involved in Adolf Hitler’s rise to power for ten points.

1. This bald man directly preceded Hitler and was, consequently, the last Chancellor of Weimar Germany. He was dismissed by Hindenburg in January 1933 and was purged during the “night of the long knives.”

Answer: Kurt von Schleicher

2. This dude served as chancellor from June until December 1932, but was sandbagged into resignation by Schleicher. Angered by this turn of events, he lent his support to Hitler and, later, served as his vice Chancellor.

Answer: Franz von Papen

3. This guy was Schleicher’s presidential chief of staff and, in January 1933, lent his critical aid to the machinations to replace Schleicher with Hitler.

Answer: Otto Meissner
15. For ten points, answer each of the following about a proper subset of topology.

1.  This field of endeavor may be simply defined as the study of simply closed curves in 3-space that cannot be “untangled” to produce a simple loop.


Answer: knot theory

1.  This staple of knot theory is the simple knot that described by the Gauss code O1+O2-U1+U2- [“oh one plus, oh two minus, you one plus, you two minus”] and is sometimes called a cloverleaf.


Answer: trefoil knot (accept threefoil knot or underhand knot)

3.  These were the second knot polynomials discovered and can sometimes indicate knot-handedness. They may sometimes be defined as Laurent polynomials over the integers.


Answer:  Jones polynomials
16. Answer the following question about some Persians for the stated number of points.

1.  (5 points)  This founder of the Achaemenid empire united the Persians with his victories against the Medes and the Lydians, among others.

Answer: Cyrus II, the Great (accept Cyrus the Great; prompt on “Cyrus”)

2.  (10 points)  This son of Cyrus II was notable mostly for his conquest of Egypt in 525 BC, where he took the Throne name Mesuti-Ra.

Answer: Cambyses II
3.  (15 points)  Cambyses II was alleged by Darius I to have murdered this other son of Cyrus II before conquering Egypt. Gaumata the Magian famously impersonated this prince.


Answer:  Bardiya (accept Smerdis)

17. Name each of the following operas from some arias that it contains for ten points. You may receive five points if you need a more famous aria.

1.  (10 points)  “Batti Batti O Bel Masetto” and “Finch’han dal vino,” the so-called “champagne aria”

     (5 points)  “Madamina, il catalogo è questo,” the so-called “catalogue aria”

Answer: Don Giovanni

2.  (10 points)  “Non piangere, Liu,” “In questa reggia” 

     (5 points)  “Nessun dorma”

Answer: Turandot
3.  (10 points)  “Caro nome,” “Questo o quella”

     (5 points)  “La donna e mobile”

Answer: Rigoletto
18. Name the following battle of the American Revolutionary War, 30-20-10.

(30 points)  American success resulting from this battle was short-lived, as Cornwallis led an army of 7,000 that routed the Americans the next day.

(20 points)  In the aftermath of that rout, Washington’s army regrouped and successfully assaulted the British garrison at Princeton, allowing the Continental Army to settle at Morristown.

(10 points)  For the 900 Hessians captured and 500 killed, Washington’s decision to cross the Delaware could not have been a very good Christmas present in 1776.

Answer: Battle of Trenton
Name these Moliere plays from characters, for ten points each.

1. Madame Pernelle, Orgon, Elmire, and the title character


Answer: Tartuffe (accept The Impostor or L’Imposteur)

2. Monsieur and Madame Jourdain, Dorimène, Dorante, Lucile, Cléonte, and some Masters


Answer: The Would-Be Gentleman (accept Le Bourgeois Gentilhomme)

3. Oronte, Éliante, Alceste, Célimène


Answer: The Misanthrope(accept Le Misanthrope)

20. Identify each of the following things from economics for ten points.

1.  This quantity may be simply defined as the difference between the price that a consumer pays for a good, and the price that he would be willing to pay rather than do without it.


Answer: consumer surplus (prompt on “surplus”)

2.  The theory of this was outlined in a 1933 work of Edward Hastings Chamberlin. In this situation, factors such as product differentiation prevent optimality of surplus.

Answer: monopolistic competition (accept imperfect competition)
3.  The Hicksian demand may be defined as the partial derivative of consumer expenditure with respect to this quantity, ceteris paribus. 

Answer: price
